MMP10 (pg/mL)

MMP10 (pg/mL)

B 204 57kDa JR— -. E ‘(&‘.gnlrol
15
2 1o
s
=
5_
N i  — —1 -
MRNA Valve tissue Conditioned media
Protein
C MMP10 + VIMENTIN D MMP10 + o-SMA
G H
80 9
70- 81 *
601 ~ 77 ”
o r.=0.5045 L 2 € 64 r.=0.5003
501 S = S *
€ " p<0.001 S5l p<001, o « to
2 40- & et g
~ ’, C}I 44 ’“ ’
@ 30 * o0 o o * *
= ¢ * L 4 L g = 34
20 { SR . o o **
2 L 2 . * ’ .
10 ‘ ‘ 14 ’ 0’0
0 ha.a * : 0 $3 3% .
0 50 100 150 200 0 50 100 150

200



mRNA (AU}

Basal B

MRNA (AU

— [ Basal
* [ e6h 15+ [ 12h
Bl 12 h EE 24 n
l Bl 24 h Hl 48 h
10 T
=104
<
*
* E -%
° *
= ? EI,: 5_
2= :
0
IL-6 IL-1B IL-6 IL-1B
[ Basal 1 Basal
Elen 1 12h
* BN 12 h B 24 h
El 24 * HE s8h
*
2] :
<
[11]
i °
N il %I F o 14 Di
0

o-SMA Vimentin Colta1 o-SMA Vimentin Call



mMRNA (AU)

4
3. *
*
2 i i
14 Q i El i
Runx2 Sox-9 OPN

45 *

3

*
* *

) i ] ﬁ .
1

0

BMP-2 BMP-4
ATKDA o — —— 52kDa . w,m.“m‘
6_
*
4| *
*
= ? é
0
BMP-9 Smad 1/5/8

1000

1000

1000

Basal
12 h
24 h
48 h

Basal
12 h
24 h
48 h

Basal
12 h
24 h
48 h

B

G0KDA s s e S G51Da 500 S GG[(Dg o ———

—
4+ (=]
=
* |
34
5 *
<
c 24
k.
o
& [ |
14 Iil é ! .
0
Runx2 Sox-9 OPN
45KDa 47kDa -«-“-?ﬂ-nm O
5+ ' O
=
44 * L
23 x
s %
S 2
(i
" ]
0
BMP-2 BMP-4
F ALP Alizarin re
v
» 3 -" L
- - * .
o' 4 R ®a
Control i » 0
e G g s
aMMP10 |

Basal
12 h
24 h
48 h

Basal
12 h
24 h
48 h



60k

60k

Akt activation (AU)

O

Protein (AU)

66k

Protein (AU)

J 65k
5

Protein (AU)

Da s wwww s s ww= Phospho [ Basal
= s
Da = s———— T Ota - a0
15
I HE 30
*
* * I
[ control
3 ammP10
- Bl aMMP10+PD
Bl aMMP10+BAY
Hl aMMP10+W
— *
$
1= —
IL-1B
Da - = o a—— 3 control
3 ammP10
—_ Bl aMMP10+PD
Hl aMMP10+BAY
El aMMP10+W
i

Da

OPN

i —— s Ao Control

I .

aMMP10
aMMP10+PD
aMMP10+BAY

10000

aMMP10+W

Sox9

65KDa o “q%ospho

65KkDa - s — s g 1 Otal
6 —

A

42kDa w——
6 —

NFxB activation (AU)

1000

Protein (AU)

a-SMA

ATKDQ ——m— ———

4 —

Ll

BMP-4

10000

Protein (AU)
N
1

47kDa = -.-—q-—.-_ — ]
- =
8 —
=
[
-
6
— *
B =
=
= 4
]
e
a
27 $
o

BMP9

Basal

15"

 —
—
EE 10
|
HE 30

Control
aMMP10
aMMP10+PD
aMMP10+BAY
aMMP10+W

Control
aMMP10
aMMP10+PD
aMMP10+BAY
aMMP10+W

Control
aMMP10
aMMP10+PD
aMMP10+BAY
aMMP10+W

42-44kDa T W= mmme === S22 Phospho

42-44kDa m“ Total

Qii‘

Erk 1/2 activation (AU)
iy
1

10000

Protein (AU)

Col1l

10000

Protein (AU)
N
1

ﬁ@! .

Runx2

52kDa
154

10000

*

=

Smad1l/5/8

Basal

15°

 —
=]
EE 10
|
. 30

Control
aMMP10
aMMP10+PD
aMMP10+BAY
aMMP10+W

Control
aMMP10
aMMP10+PD
aMMP10+BAY
aMMP10+W

Control
aMMP10
aMMP10+PD
aMMP10+BAY
aMMP10+W



3 control 3 control I control 3 control

[ ammP10 3 ammP10 3 ammP10 [ ammP10
B aMMP10 + TIMP1 Bl aMMP10 + TIMP1 Bl aMMP10 + TIMP1 Bl aMMP10 + TIMP1
A B 500 o o C 47kDa
44 1.6 ) 2.5 10
*
* 2.0 - 8
34 1.4+
s 5 =3 5 5 L
= = = 17 s = ° «
= 24 s 1.2+ = = =
2 2 b= 2
e 3 $ e 1.0+ ° 4
[N a a a
14 é $ 1.04 B3
= 0.5 24
=
0 0.8 0.0 o
IL-1B Sox9 BMP-4 BMP-9

E 52kDa :—w'-—v F
4

& control Control aMMP10 aMMP10+TIMP1
[ ammP10
— B aMMP10 + TIMPL
34
E)
<
= 24
5
2 $
e .
1
[
Smad 1/5/8
G 60kDa ﬂ‘-—’. 1 control H 65kDa 3 control I 1 control
4 3 ooMm 154 3 obwm 4 3 oowm
EE ODM + MMP10ab BN OoDM + MMP10ab EE 0DM + MMP10ab
3 EE ODM + OPG ¥ EE ODM + OPG 3 " HEE ODM + OPG
_ ~ 104 ~
=l p) D
= = =
= 2 - = = 2 -
= 2 E
< $ <4 2
a = 3 a 5 o 3
= - . s
=
o o [
Runx2 Sox9
J T control 3 control T control
“7 =3 oom =3 oom =3 oom
BN 0DM + MMP10ab EE ODM + MMP10ab BN oDM + MMP10ab
3 B ODM + OPG 34 B ODM + OPG B ODM + OPG
— — — 2
= 2 $ s 2 =
@ @
s 2 g s
a a a 14
1 1
o o o
BMP-4 BMP-9 Smad 1/5/8
Control OoDM ODM+ MMP10ab ODM+0OPG




